Pre-Calculus - Honors Lesson 19

Homework #19 Answers

From Houghton-Mifflin Precalculus 3™ Edition

p63: .
32) Ix - 20| > 4 33) Ix + 14| + 3 > 17
x-20<-4 x-20>4 Ix + 14| > 14
x<16 x> 24 . x+14<-14 x+ 14> 14
(x <16) V (x > 24) X < -28 x>0
) (x < -28) V (x > 0)
34) Ix-31>5 36) 3|4 - 5x] <9
2 4-5x>-3 4-5x<3
x-3<-5 x-32>5 -5x > -7 -bx < -1
2 2 x<7/5 x>1/5
x-3<-10 x-3=>10 - 1/5<x<7/5
x< -7 x2>13
(x<-7)V (x=13)
45) (x + 2)°< 25 48) x* -6x +9 <16
x> +4x +4 =25 x*-6x-7<0
¥ +4x -21:=0 (x-7Xx+1)=0
(x+7Xx-3)=0 x={7, -1}
x ={-7, 3} -1<x<7
-7<x<3°

49) x*-4x2>0
x(x+2)x-2)=0
x = {0, -2, 2}
(x<-2)V(x=>2)

p180:
18) (7 + 3¢V2) + (3 + 4iV2) = 10 + 742

32) -72/ - 32¢2 =32 - 72¢
36) (1 -4 +4:)-(1 +4c+ 4> = -8

50)8 - 7¢ o 1 +2; =8 -T7¢+ 166 - 142 =22 + 9;
1 -2 1+ 2¢ 1 - 42 5




